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QUESTION 1

A customer recently set up Async Replication between Site A and Site B. The customer wants to conduct a planned
failover and clicks Activate on Site B. The customer then runs the following command on Site A: ncli pd

deactivate_and__ destroy_vms name=.

What does this do to the customer environment?

A. VMs get deleted from Site B and the protection domain is now Active.

B. VMs are powered off on Site A and must be manually powered on at Site B.

C. VMs get deleted from Site A and the protection domain is no longer active.

D. Customer must then manually power off VMs at Site A and power them on at Site B.

Correct Answer: C

pd deactivate and destroy vms name=DataProtection
Use this command only when you are preparing to do a failback from an unplanned

failover. Executing this command will HEANSCERGT-IVCCERSGTIROMERESRE= and might ca

use data loss when used incorrectly. Are you sure (y/N)?: Error: Mode change for
protection domain DataProtection failed with error: Canno

t deactivate protection domain DataProtection because 1 VM(s) (POC DEMO) are Pow
ered ON

QUESTION 2

An administrator is configuring software only. Data-at-Rest Encryption on their Nutanix cluster. They are planning to
deploy a third-party key management server (KMS). Where should this server be hosted?

A. As a single VM on the Nutanix cluster

B. On hardware external to the Nutanix duster

C. As a clustered VM setup on the Nutanix cluster

D. As a single VM deployed on the host that contains the Prism leader CVM

Correct Answer: B

QUESTION 3

An administrator needs to initiate a new VDI project within a couple of months. Prism Central reports there are no
storage resources to accommodate such workloads.

The administrator sees many powered-off VMs and has the authority to delete test VMs powered off at least for 30 days.
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Test VMs belong to the Test category.

Using Prism Central, which steps are required to identify the correct VMs to be deleted?
A. Use Capacity Runway to filter by Test and Powered-off VMs

B. Filter VMs list, choose Test category and Inactive under Efficiency

C. Create a new Scenario selecting Test VMs. filter by uptime

D. Create a new Project selecting Test VMs, sorting by power state

Correct Answer: B

QUESTION 4

An administrator receives reports that VDI desktop performance in an 8-node Nutanix VDI environment is poor. Opening
applications takes between 1 and 2 minutes. When investigating the issue, the following conditions are found:

Cluster memory utilization: 80%

Cluster SSD utilization: 70%

Average VM CPU Wait Time: 11%

CVM CPU utilization: 75%

Which action should be taken to improve VDI performance?
A. Increase the amount of SSD storage in the cluster.

B. Add memory to the nodes in the cluster.

C. Add CPU resources to the cluster.

D. Increase the number of vCPU cores allocated to the CVM.

Correct Answer: C

QUESTION 5

Refer to the exhibit.
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Authentication Configuration ?

Directory List Authentication Types Client

Idaps://corp.yourcompany.com:389

Mon Recursive (Default) -~

An administrator configures Active Directory authentication as shown in the exhibit. Upon finishing setup, users are not
able to log in. What configuration change should be made to fix this issue?

A. Change leaps to https

B. Change the Directory URL to use an IP rather than a name
C. Change the plct from 389 to 636

D. Change the Domain to use an IP rather than a name

Correct Answer: C
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